Read and plot co-ordinates in the first quadrant.
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Read and plot co-ordinates in the first quadrant.
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This is the ‘point’ (2, 5).

We write the x position first, then
a comma, then the y position; then
write brackets around both values.

It is
2 grid squares across
from the originand

= _— ™ 5squares up.
| w
y-axis 6 ,//What are the
5 ® < coordinates of this
4 point?
3 / )
2 (6, 1) Can you
s
1 o/ ‘ﬁ\‘ﬁe why?
0

0 1 2 3 45 6 7 8 9 10
X-axis —

m © hamilton-trust.org.uk 2 Year 4



https://www.hamilton-trust.org.uk/maths/year-4-maths/
https://www.hamilton-trust.org.uk/maths/year-4-maths/
https://www.hamilton-trust.org.uk/maths/year-4-maths/

Read and plot co-ordinates in the first quadrant. Complete polygons by
identifying missing vertices.

Let’s check...
10|

These two points are two of
the vertices of a square.
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8| N vertices be?
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Read and plot co-ordinates in the first quadrant. Complete polygons by

identifying missing vertices.
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There’s another solution, did
anybody find it?
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Read and plot co-ordinates in the first quadrant. Complete polygons by
identifying missing vertices.

These two points are two of the
vertices of a right-angled
triangle. Where might the third

Let’s check...
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Read and plot co-ordinates in the first quadrant. Complete polygons by
identifying missing vertices.

Is there another
Let’s check... solution?
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(4, 8) (8, 8)
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